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SHIKSHA VIKASH SAMITI, ODISHA

ANNUAL EXAMINATION: 2020-2021
Class - VII
Time - 1 hour

Sub - English
Full marks - 50

1. Do asdirected 2x15=30
() Youcan't catch the train. You are in time.
(Join using if/unless)
(b) This is the boy about whom Ram spoke.
(Rewrite without using 'whom')
(¢) I'mafraid. I've lost my key again.

(d)
(e)
(®
(8
(h)
@
G)

(k)

Not again ! You

(Complete the sentence using 'always' + verb + 'ing'
Madhu is my friend. He came to invite me.

(Join without any joining word)

I asked my servant to clean my shoes.

(Rewrite using had/got)

I must attend the meeting. (Rewrite using 'yesterday')
Harimay be ill. (Use "perhaps')

Madan finished the story. He closed the book.

(Join using 'After")

Write the words using im/un/dis/mis/non prefix.
Balance , Co-operation

Make sentences using the pair of words :

quiet, quite,

Write the opposite gender:

editor, ,bride
[1]

()  Make sentences :
due to, put out
(m) Let's go out for a walk.
(Add a suitable 'question tag')
(n) Mobhini was not at home. Her brother was not at home.
(Joinusing 'neither .................. nor')
(o) Rakeshtooktea. He sat ona chair.
(Combine the sentences)
Translate into English (any five) 2x5=10

(@) 691Q YRIATY QRN |

(@) 2est 92 RIFR QIR @R QR ?
(6) @6¢! 2R FIRe In AR 2

(@) 9 9F 6Aed odl 62N |

(%) 691 QIR PIPIP PPN JYAIQ SIS |
(@) Q2R 66lIcN Q2 RIFl FQIRR |

Choose the correct answer. 1x10=10

()

(ii)

(iif)

(v)

Opposite word for 'ancient' is

(a) old (b) new (¢) modern (d) none of these.
Suitable negative prefix for 'please’ is

(a) un (b) dis (c) non (d) mis
I amnot agree

(a) with (b) on (¢) for (d) to.

What time did you arrive

the proposal.

Bhubaneswar ?
(a) at (b) in (c) to (d) all of these.

[2]



V)

(Vi)

(vii)

(vii)

(x)

)

I am a doctor. Correct question tag for it is

(@) Amnot I ? (b) Amn't I? (c) Aren't I ? (d) Don't 1 ?
Which of'the following is correct ?

(a) magic away (b) magic see

(c) magic brave, (d) magic power

Which of'the following is correct ?

(a) handsom (b) handsome (c) handsum (d) handsom

'In favour of' means

(a) fever (b)obey (c) respect (d) support
Which is correct ?

(a) If you study, you will pass.

(b) If you will study, You'll pass.

(c) Ifyou won't study, you will pass.

(d) If you study, you pass.

Sixty miles not a long distance.
(Fill in the blank)

(a) are, (b) have, (c) is, (d) has

O o0 o
0’0 0’0 0’0
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